B (HETR) 77 AR Iahr

mvEC

A NERT A4=No i K4 7 Z A B 4 e M| 7 7 RNAGL (G
20 21 =i 1 iviEC wLEEET 29.14 1 11
29 17 AREF SRS v C SIS 29.65 2 9
33 2 FE = Miv%EC F2E T 29.76 3 8
41 3 = Bmtk v C LAY 30.28 4 7
49 7 KA HivHC JektrH 31.44 5 6
56 9 HIR TEH v C SISO 31.93 6 5
64 15 e g Miv%EC Je At 32.63 7 4
65 8 ek 1 v C RN T 32.69 8 3
61 5 NI ES iviEC B LE W 32.30 9 2
66 1 g 5L mv%C FRF 32.78 10 1
69 20 HEPK Lt iviEC ekt 33.14 11 1
71 4 NN miv%C AEWR T 33.32 12 1
76 19 R T iviAC & LE W 34.61 13 1
77 13 B 16T v 5HC BLEH 34.74 14 1
78 10 AR KK Hiv5HC FH2E T 34.87 15 1
85 11 ek F51E miv%cC (LA T 36.02 16 1
89 16 mil Miv%EC N T 37.52 17 1
90 18 V41l Ok fivHC EIR i 38.29 18 1

Dike:2s

WA NERT A%=No wiE K4 7 A FroJE 4 Be Rl 2 7 RIEAE 1535
1 42 MR B = ivHB wLEEHT 27.65 1 11
1 34 2H B miv%B F Rt 27.65 2 9
3 30 NS = ivHB wLEEHT 27.75 3 8
8 31 =3 BUZ miv%B N 28.28 4 7
24 28 R 1R 758 SIS 29.40 5 6
26 32 = FE mivB bkt rh 29.60 6 5
39 33 A BoE ivHB B T 30.26 7 4
47 36 0 45 miv%B BLEHET 31.20 8 3
52 41 (/N MivHB LN 31.51 9 2
60 38 I E% 7B N T 32.27 10 1
72 37 FEAT BEH v %8 LN 33.43 11 1
74 40 Fig % 7B whEm 33.66 12 1
91 29 W ER v %8 AR T 38.72 13 1




v A

A NERT A4=No i K4 7 Z A B 4 e M| 2 7 RNAGL (G
7 51 Bl Ak v A (LA T 27.92 1 11
9 53 HRN S mvHA W LEHET 28.38 2 9
10 49 V= R/NIR/ASIN mvHA F Rt 28.39 3 8
11 56 EHH fE— YA ekt 28.48 4 7
18 54 PN mivHA R T 29.04 5 6
23 63 T & mivHA LEET 29.32 6 5
25 50 FHE E— v FHA F2ET 29.43 7 4
37 60 A sekss v A N 30.08 8 3
42 64 W e MivHA Je At 30.36 9 2
43 55 Py v A N 30.37 10 1
46 59 A e v HA R T 30.90 11 1
48 66 150 5LZ AR v A wLEET 31.24 12 1
51 57 LR B MivHA BN T 31.48 13 1
53 61 PO NS v A Ab kit 31.57 14 1
62 67 N i HivHA ekt 32.49 15 1
68 65 R ) mviA RN T 32.92 16 1
86 62 B ER MivHA N T 36.34 17 1
58 HEH —= miv5A BLhEET RA—k 1
mtHC
A MEAT A4=No WiE K4 7T A @ 4 e Rl 2 7 RIEAL (3=
6 104 THK MR HtC FRF it 27.89 1 5
28 111 HE B— HitHC ekt 29.61 2 3
38 106 AN HtEC [EEa= N 30.13 3 2
57 110 AR TR HtHC SEIRF T 32.21 4 1
107 FEIR B HtEC R RE—hk 1
it BB
A MEAL A4=No WiE K4 Vs i@ 4 e [ 2 7 RANANGL (I
12 120 HERE A Tt BB JeAtr 28.66 1 4
14 119 /NBR HitEB =1 28.73 2 2
34 122 WA Tt BB oAt 29.83 3 1
it BA
A MENL A4=No iE K4 77 A i e M| 2 7 RNANGL (E3S
15 127 /NE KGR HrEA BN T 28.90 1 5
17 123 YH HrHA F R 29.02 2 3
54 124 /IMERF EAR mitHA (RN 31.61 3 2
92 125 TOESEIN HrHA LN 41.27 4 1




A MAL A4=MNo i K4 7 Z A B’ 4 e M| 2 7 RNAGL (G
5 131 wI R i, ekt 27.88 1 7
31 136 PN NE i ekt 29.70 2 5
36 132 RN R 4% EE==h 30.01 3 4
45 130 JNBR AT AR A5 LN 30.74 4 3
82 137 & Mz i 5 & hEm 35.60 5 2
87 135 BEH WSk M5 LEET 36.66 6 1

HT<%C

A MEAL A%=MNo WiE K4 77 A B 4 e M| 2 7 RIANGL (3
55 25 KH e LIRS 10 E AR T 31.72 1 5
70 26 =i =K mrv5%C LSV 33.17 2 3
75 24 NN BT 5 C HES YR 33.99 3 2
81 23 I E— 8 HTv 35 C B AT T 35.43 4 1

BT3B

A MANL A4—MNo wiE K4 7T A B 4 e [ 7 7 RMAGL (EI
44 44 =i =R Hr~ 5B & AT T 30.65 1 3
83 46 g 1T mTv %8 E AT 35.67 2 1

7w A

A MEAT A%=No WiE K4 7 F A i@ 4 e M| 2 7 AMANGL 5
15 70 g B iy 5 A EFn T 28.78 1 10
22 71 KHJE 5L HTv 55 A B AT T 29.31 2 8
26 75 INE /Y mTv 55 A HES YR 29.60 3 7
30 73 HH AR HTv A T 29.69 4 6
32 69 HHA = HTv 5 A i) 1 = 45mT 29.72 5 5
35 74 PIE FnH BT 55 A B AT T 29.89 6 4
57 72 0 T 55 A HES YR 32.21 7 3
59 77 A HTv 55 A R T 32.26 8 2
63 76 BAR Stz Hrv %A BEFnmT 32.51 9 1

LINE10

A MAL A4=MNo miE K4 7 Z A i e M| 2 7 RNANGL (EI
16 117 N NS BT C HES RS 29.00 1 2

5

A MENE A4=No miE K4 7T A i e M| 2 7 RNANGL (EI
19 138 2H R /55 Y JEHT 29.13 1 2




